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TCP 192, 166, 1. 153:4002->192. 168, 1. 152: 4002 v TSR v A

= Frane < |[0000 00 0 c3 BD 7C D5 00 Do C9 ED 7D 14 02 00 45 00 ....I. 3 B

S WAC header [lleoto 0o 28 40 & 0 00 40 06 75 BF Co A8 01 38 CO A . (B.€.0.u. . B

Destination Address:00:D0:C9:BD.7C:15 0020 01 32 OF A2 OF A2 7A 41 52 CA 23 5C 50 16 50 14 ......zA..4...E.
Source Address:00.00.C9:BD:TD:14 0030 00 00 28 SC 00 00 (0100/60700760760 e

Type:0x800 (oD TF)
# IPvd header
= Tep Header
Sourca port:4002 (Local Port)
Destination port:4002 (Local Port)
Sequence mumber 2051117710
Actmowledgnent runber (ACK) 536422678
Header Length'S (0 bytes)
= Flags:0x14
=ECH-Roho (ECE) Mot set
Congestion windon reduction CHR) Mot set
Urgent_pointer (IRG) ot set
Ackmovledgnent nunber (CK) Sat
=Push(PSH) Tot. set
Reset connection (BST):Set
0 =Synchronize sequence nunbers (5TH) Mot set
0=End of data (FTH) Mot set
Window size:0
Checksun: 0x215¢
Urgent pointer:0
Tep Options:None
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